H 4% PLC Z20E

ORIGIN)=7 48 SEYYOR NZtHEC X W&o Tot AF= JISS o0
S &% Edge O QoH IS RE =7 AE F 2ASE 3 FUC

HO ZZ(0RIGIN FIN)2
1 “ORGRST ” Y2 0l = (0RIGIN FIN)S 24 (0FF) Gt

ORG
X0.0 ¥0.0 | LOAD X0.0
—+ HP>REQ OUT —— )— ORG
OUT  Y0.0
X0.0
Y0.0 | |
ORIGIN FIN
g o
Y > X Hs NFYY (&= 0~7 0 2 =0 cHE)
a-1) ORG B1=(0~7) : ORG 0, ORG 1, .,,0RG 7
a-2) ORG L% : ORG LO, ORG L1, ,,,ORG L7999
A > = 88 NFYY (Word E2 0~ 7bit It 2f =0l oiE)
b-1) ORG MZ & : ORG MO, ORG M1, ,,,0RG M99
b-2) ORG D&EZ& : ORG DO, ORG D1, ,,,0RG D383
b-3) ORG X&E& : ORG X0, ORG X1, ,,,0RG X5
b-4) ORG Y&EE : ORG YO, ORG Y1, ,,,0RG Y5




H 4% PLC Z2E

2) ORGRST

(1) 32<
0RG THO0IQ A= L+uAR
J

=2 (0RIGIN FIN)S cIAU(OFF) & LICH.
HE=2 &5 Edge S0 2ol VISE

|=&LICH

(2) AIRA 2 EHOIY XIE

xo0 | ©RC Y0.0 8%@? X0.0
—t FPREQ OUT—(O—| o1 vou
LOAD  X0.1
ORGRST
OuT  Y0.1
xo.1 | ORGRST Y0.1
—+ H>REQ ouT ——)—

X0.0
Y0.0 |
ORIGIN FIN FIN RESET
X0.1
YO0.1
(3) A= ol

a) E2A2 A = S NFEH (A0~ 70 2 =0 oY)
a-1) ORGRST &15(0~7) : ORGRST 0, ORGRST 1, ,,, ORGRST 7
a-2) ORGRST L&~ : ORGRST LO, ORGRST L1, ,,, ORGRST L7999

b) A&E2AZ2 2|4l = & XNELEH ( Word EES 0 ~ 7bit JF 28 =0 oY)
b-1) ORG M&EZA : ORGRST MO, ORGRST M1, ,,, ORGRST M99
b-2) ORG D& ZA : ORGRST DO, ORGRST D1, ,,, ORGRST D383
b-3) ORG X&Z& : ORGRST X0, ORGRST X1, ,,, ORGRST X5
b-4) ORG Y& Z : ORGRST YO, ORGRST Y1, ,,, ORGRST Y5




H 4% PLC Z2E

3) JOG+
(1) &8¢
+Us A= 015(J0G) SEHHEOZ IS NP et + €802 25 0|82 +3s6H0
£t JlE XN 28 =S 015 28 Al &3 = AEHE =2 LG
(2) AIRA 2 EHOIY XIE
JOG+
X0.0 \;O\.O LOAD XO0.0
—t H REQ OUT ) JOG+
ouT Y0.0

X0.0 | |
Y0.0 | |
JOG+ START
(3) AF2 O

a) == 0l &8 = g XNEgY (M= 0~7 0 2 =0 i)
a-1) JOG+ ©15(0~7) : JOG+ 0, JOG+ 1, ,,, JOG+ 7
a-2) JOG+ L&~ JOG+ LO, JOG+ L1, ,,, JOG+ L7999

b) == 0| & = & NELY ( Word &2 0 ~ 7bit Il 2 =0 oY)
b-1) JOG+ M&EZA : JOG+ MO, JOG+ M1, ,,, JOG+ M99
b-2) JOG+ D&EZA : JOG+ DO, JOG+ D1, ,,, JOG+ D383
b-3) JOG+ X&®ZE : JOG+ X0, JOG+ X1, ,,, JOG+ X5
b-4) JOG+ Y&EZE : JOG+ YO, JOG+ Y1, ,,, JOG+ VY5




H 4% PLC T2

JOG-
(1) =
- BEF 2= 015(J06) Ssg¥Eez Jis AE0 et - gsoz 5 052
T3 OIS KNP0l OB A 01 4+ Al 4% = NS 22 UL
(2) AIEA & EHOIY XIE
JOG-
X0.0 Y/o\.o LOAD  X0.0
—1t 4 REQ OUT () JOG-
OUT  Y0.0

X0.0 | |

Y0.0 + |

JOG- START
(3) AtE Ol
a) 5 02 28 = 5 NFYY (42 0~70 2 =0 HY)

a-1) JoG- ®&(0~7) : JOG- O, JOG- 1, ,,, JOG- 7

a-2) JOG- L®# : JOG- LO, JOG- L1, ,,, JOG- L7999

b) =5 0|5 8 = & NEFLY ( Word &2 0 ~ 7bit JF 2+ =0l o<

b-1) JOG- MEE : JOG- MO, JOG- M1, ,,, JOG- M99

b-2) JOG- D& & : JOG- DO, JOG- D1, ,,, JOG- D383

b-3) JOG- X&E& : JOG- X0, JOG- X1, ,,, JOG- X5

b-4) JOG- Y&E& : JOG- YO, JOG- Y1, ,,, JOG- Y5

)




H 4% PLC Z2E

5) START
(1) =e|
MC Z208 NS2d AdAIE(Start) SSHELZ MC 2208 S22 AHA
+eot0 BE2 o5 Edge B0 2ol J|ISo0 MC Z2 08 S22 A Al
=HAZE =H(0N) SUCH
NsS2d AdAIZ(Start) sdE S22 T2 Jo S U4S2SH A
Ojet ZAIEXN 4B = RESETAIZ0 2t 2218 HHEZ Al 25420t 2
(2) NZA 2 EOIY XtE
START
X0.0 ¥0.0 | LOAD X0.0
—+ P>REQ OUT —— )— START
OUT  Y0.0
X0.0
¥0.0 |
AUTO START AUTO STOP
END

[ (STOP) Ofl
OFF) & LICt.

—~ A




28 JHHX(STP) SELELZ MC 208 UHs28 HdE:HERX JIs
&= Edge 20 2ol JISot0 MC 2208 NS2d 2HEX =2
N) &LICH

H 4% PLC Z2E

& AHAIE(Start)0ll 28 WIS Al
SJt el4(oFF)ELICE.

(2) AIEA 2 EHOIY XHE
STOP
X0.0 Y0.0 | LOAD X0.0

—+ FReQ out —() STOP
OUT  Y0.0

X0.0

Y0.0 +

AUTO STOP AUTO START

RESET

FU mio
o

cC
o

=
[



ZT2#

Nl 4 & PLC

1) RESET

(1) 82

ts2d
C T2

Tz X
i JlSotH

2 MC
=

=)

04 24
o
S Edge 201 2

Ab
(=]

T2 X
CIP]

MC
Al

o <
o o
> >
ag
< w»m k=
ow=2
Jax O
<
O
VI

RESET

X0.0

—+ - REQ OUT

X0.0

Y0.0

RESET




H 4% PLC Z2E

2) CHPROG
(1) "o
AAs2d A MC Z203 S HA(CHPROG) SEX YL A=2d A- MC Z2 039
Bl HEIISES 8ol BEE &S Edge 20 Slol JIsSotH A=s2d A& MC 220
Ol S WA s 238 § WA E =4 LICH
— DRI M5 YS s NF AS =X, NG, DE)BS, LHAE ABE &
USLICE.
— ANS2d A8 F0=s IC Z203 Hs HEZ & 5 suUt
(2) AIEA 2 EHOIY XHE
CHPROG
X0.0 Y0.0 LOAD  X0.0
—+t P REQ OUT ——)— CHPROG 2
ouT Y0.0
2 — NO
X0.0 |
AUTO 7 ] 2
PROGRAM T
NUMBER
Y0.0 |
(3) AtE 0l
a) A3 MC Z203 WS HAE XYY ( &4+ 0~630 T3 HS0 i)
a-1) CHPROG tH2(0 63) : CHPROG 0, CHPROG 1, ,,, CHPROG 63
a-2) CHPROG LH#H %= CHPROG LO, CHPROG L1, ,,, CHPROG L7999
a-3) CHPROG M’é”é.* : CHPROG MO, CHPROG M1, ,,, CHPROG M99
a-4) CHPROG D& & : CHPROG DO, CHPROG D1, ,,, CHPROG D383
a-5) CHPROG X&& : CHPROG X0, CHPROG X1, ,,, CHPROG X5
a-6) CHPROG Y& & : CHPROG YO, CHPROG Y1, ,,, CHPROG Y5




3) STEP or STEP+

H 4% PLC Z2E

(1) ®ol
v B0 X OlS(STEP) SRYUOR N 20l o8 + 98 2O 9% 018 JsS
ABEI0 PUS AL Edge L0 I IISHO + WE M YUK 0/E +HS B2 &
sseizs B2 L
— Z0 /X NE S P BHy E=L HE AIEE = UASLIGH
— 013 25 XF UAS F H> T L WAS AR & ASULDH
STEP+ S22 +8AR 5 £200] INIH CH2 OIEXZ0) 28 01 Al 214 (OFF)ELICH
(2) AIEA 2 EHOIY XHE
STEP+
X0.0 Y0.0 LOAD  X0.0
—t F>REQ ouT —() STEP+ PO FO
OUT  Y0.0
PO— POS
FO — VEL
X0.0
PO | 1234 |
FO | 2000 |
CURRENT
?
p0SITION 71 POSITION MOVE [ PO(1234) [ ? ]
CURRENT 5000 5
VELOCITY | +
Y0.0
1 SCAN
(3) ALZ Ol
a) 2UH <Xl OI* =3 5 BHS N3YY (&A= 0~70 2 =0l i)
a-1) STEP+ B15(0~7) <RAXI> <=%> : STEP+ 0 LO L1, STEP+ 7 1000 100
a-2) STEP+ LB <2IXI> <&%Z=> @ STEP+ L100 LO L1, STEP+ L100 PO 100
b) 7é*EH X 0ls =8 = &8 NFLY ( Word E&E2 0~ 7bit JF 28 S0l i)

STEP+ ME &
STEP+ DE &
STEP+ DE &

-1)
b 2)
b-3)
b-4) STEP+ DEH

<KX><=E>
<HX><EE>
<HX><EE>
<RIX> <EHE>

: STEP+ MO LO L1,
: STEP+ DO LO L1,
: STEP+ X0 LO L1,
: STEP+ YO LO LT,

STEP+ M99 PLO PO
STEP+ D383 PLO PLO
STEP+ X5 PLO PLO
STEP+ Y5 PLO PLO
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H 4% PLC Z2E

STEP
(1) ®ol
- g B0 X OIB(STEP) SRYUYOR A 20| o8 - 98 2O 9% 018 JsS
4B HUS AL Edge L0 Il IISHI0N - WE M X 0/& 2SS 225 &
sseizs B2 L
— Z0 fX XNE 2P BHe L= L HE AIEE = UASLIGH
— 0l& & NE 2 F s L= L HE AEE = USLILH
STEP- S22 +8AR 5 £200] INIH CH2 OIEXZ0) 28 01 Al 214 (OFF)ELICH
(2) AIEA 2 EOIY XHE
STEP-
X0.0 Y0.0 LOAD  X0.0
—t F>REQ ouT —() STEP- PO FO
OUT  Y0.0
PO— POS
FO — VEL
X0.0
PO | 1234 |
FO | 2000 |
CURRENT
—PO(- 7
pOSITION L7 POSITION MOVE[ —PO(=1234) [ 7 ]
CURRENT 5000 5
VELOCITY | +
Y0.0
1 SCAN
(3) ALZ Ol
a) 20 X Oz 48 = #5 NEYY (A2 0~7 0 2 =0 HL)
a-1) STEP- YW&(0~7) <RAX> <=%> : STEP- 0 LO L1, STEP- 7 1000 100
a—-2) STEP- LHZ% <2IXI> <=5> @ STEP- L100 LO L1, STEP- L100 PO 100
b) U /Xl 0I5 =8 = & XNIFLY ( Word &2 0 ~ 7bit It 2 S0l HE)
b-1) STEP- ME & <2IXI> <&5&> : STEP- MO LO L1, STEP- M99 PLO PO
b-2) STEP- DE & <2XI> <&&> : STEP- DO LO L1, STEP- D383 PLO PLO
b-3) STEP- DE & <RI XI> <&=%> : STEP- X0 LO L1, STEP- X5 PLO PLO
b-4) STEP- DE & <R XI> <&=%> : STEP- YO LO L1, STEP- Y5 PLO PLO
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5) ISTEP or |STEP+

H 4% PLC Z2E

(1) "o
+ 28 A0 Xl 0I&5(STEP) SEEYHHE SR XE 220 28 + L& & /X 018 JIsS
+eliol(H S8 o= Edge BHO 2o JISotd + &8 &l ?Xl 0I5 &8s 258 =
syeEs &2 UG
— & RAX XNE 2 P = =L B2 AIEE = USUIL
— 018 & XNE S F 8 E= L HEE MEE = ASULTL
ISTEP+ S22 dH2AS = 0| ONHH CHE 0ISXE0 28 015 Al 2lA(0FF)E LICH
(2) AIAA 2 EHOIY REE
ISTEP+
X0.0 Y0.0 | LOAD X0.0
—t F>REQ ouT —() ISTEP+ PO FO
OUT  Y0.0
PO — POS
FO —| VEL
X0.0
PO | 1234 |
FO | 2000 |
CURRENT
7+ 7+ ?
50SITION 2| POSITION MOVE [ 7+P0(7+1234) [ 7]
CURRENT | 5000 | lT‘
VELOCITY T
Y0.0
i SCAN
(3) At ol
a) &0 ?AX o1& =8 = ¢S NEFLY (&==0~70 2 S0l i)
a-1) ISTEP+ B15(0~7) <JHel> <=5%> @ |STEP+ 0 LO L1, ISTEP+ 7 1000 100
a-2) ISTEP+ LB <O{el> <=5&> @ |STEP+ L100 LO L1, ISTEP+ L100 PO 100
b) é*EH X 015 = = ZF NELY ( Word &2 0~ 7bit Jb 2 =0l i)
-1) ISTEP+ MEE <Hel> <&5> ¢ ISTEP+ MO LO L1, ISTEP+ M99 PLO PO
b 2) ISTEP+ DE A <Hel> <&&> @ ISTEP+ 00 LO L1, ISTEP+ D383 PLO PLO
b-3) ISTEP+ DEE <XHel> <&=&> @ |STEP+ X0 LO L1, ISTEP+ X5 PLO PLO
b-4) ISTEP+ DEE <XHel> <&&> @ |STEP+ YO LO L1, ISTEP+ Y5 PLO PLO
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H 4% PLC Z2E

12) |ISTEP-
(1) "o
- 28 A0 X 0I&5(STEP) SEEYHE SR XE 220 s - L& &4 /AX 018 JIsS
2ol HE8& &= Edge FHO 2o JISotd - & &l ?Xl 0S5 &8s 228 =
SHARE B BLIC
— & ?AX XNE 2 P = =L B2 AIEE = UsSUILC
— 085 £k XNE g2 F 8 L= L B8 MEE = UsLILHL
ISTEP- S 2282 dH2AS = 0| ONHH CHE 0ISXE0 28 015 Al 2lA(0FF)E LICH
(2) AIAA 2 EHOIY XEE
ISTEP-
X0.0 Y0.0 | LOAD X0.0
—t F>REQ ouT —() ISTEP- PO FO
OUT  Y0.0
PO — POS
FO— VEL
X0.0
PO | 1234 |
FO | 2000 |
CURRENT
?— ?— ?
SOSITIoN 2| POSITION MOVE[?-P0(?-1234) [ ? |
CURRENT 5000 5
VELOCITY | +
Y0.0
1 SCAN
(3) AtE ol
a) &0 ?AX o1& =8 = ¢S NEFLY (&==0~7 0 2 S0l )
a-1) ISTEP- ©5(0~7) <AHel> <=£%> : ISTEP- 0 LO L1, ISTEP- 7 1000 100
a-2) ISTEP- LWz <){e2l> <£%> ¢ ISTEP- L100 LO L1, ISTEP- L100 PO 100
b) & ?AX 0I& =& = & NELY ( Word 882 0 ~ 7bit It 2f =0l o)
b-1) ISTEP- MEE <XHel> <=&> @ |STEP- MO LO L1, ISTEP- M99 PLO PO
b-2) ISTEP- DB & <Hel> <&%> @ |STEP- D0 LO L1, ISTEP- D383 PLO PLO
b-3) ISTEP- DEE <XHel> <&&> @ |STEP- X0 LO L1, ISTEP- X5 PLO PLO
b-4) ISTEP- DEE <Hel> <&&> @ |STEP- YO LO L1, ISTEP- Y5 PLO PLO
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